

Name: \_\_\_\_\_

A

$$(24n + 1y)^2 = \underline{\hspace{2cm}} + \underline{\hspace{2cm}} + \underline{\hspace{2cm}}$$

$$(22n \underline{\hspace{2cm}})^2 = \underline{\hspace{2cm}} + 88nm + \underline{\hspace{2cm}}$$

$$(23x - \underline{\hspace{2cm}})^2 = \underline{\hspace{2cm}} - \underline{\hspace{2cm}} + 1m^2$$

$$(\underline{\hspace{2cm}} + 7b)^2 = 25n^2 + \underline{\hspace{2cm}} + \underline{\hspace{2cm}}$$

$$(\underline{\hspace{2cm}} - 3b)^2 = \underline{\hspace{2cm}} - 18nb + \underline{\hspace{2cm}}$$

$$(\underline{\hspace{2cm}})^2 = 169a^2 + 130ay + \underline{\hspace{2cm}}$$

$$(\underline{\hspace{2cm}})^2 = 36x^2 - \underline{\hspace{2cm}} + 225m^2$$

$$(\underline{\hspace{2cm}})^2 = \underline{\hspace{2cm}} + 126am + 9m^2$$

Nebenrechnungen

Name: \_\_\_\_\_

B

$$(11a + 9b)^2 = \underline{\hspace{2cm}} + \underline{\hspace{2cm}} + \underline{\hspace{2cm}}$$

$$(16n \underline{\hspace{2cm}})^2 = \underline{\hspace{2cm}} + 96nm + \underline{\hspace{2cm}}$$

$$(6x - \underline{\hspace{2cm}})^2 = \underline{\hspace{2cm}} - \underline{\hspace{2cm}} + 36y^2$$

$$(\underline{\hspace{2cm}} - 14m)^2 = 121a^2 + \underline{\hspace{2cm}} + \underline{\hspace{2cm}}$$

$$(\underline{\hspace{2cm}} + 9b)^2 = \underline{\hspace{2cm}} + 144rb + \underline{\hspace{2cm}}$$

$$(\underline{\hspace{2cm}})^2 = 441x^2 + 168xm + \underline{\hspace{2cm}}$$

$$(\underline{\hspace{2cm}})^2 = 49x^2 + \underline{\hspace{2cm}} + 81y^2$$

$$(\underline{\hspace{2cm}})^2 = \underline{\hspace{2cm}} - 80xm + 4m^2$$

Nebenrechnungen